BHARAT COKING COAL LIMITED

(A Subsidiary of Coal India Ltd) OFFICE OF THE GENERAL MANAGER

CHANCH-VICTORIA AREA-XII

P.O.-BARAKAR – 713324, DIST-BURDWAN (W.B.) Phone: 06540-272126; FAX 0341-2520063

Ref. No. BCCL/XII/ACE/QTN/2011-12/13/1219

Date: 27.05.2011

QUOTATION NOTICE

Sealed Quotations on percentage rate basis are invited from the bonafide & experienced contractors for the following works:

| 10110 11 | ing works. | | | |
|----------|---|----------------|---------------|--------------------|
| Sl.No. | Name of the work | Estimated cost | Earnest Money | Time of completion |
| 1. | Repair of boundary wall, fixing gate in boundary and development works at Guest House, C.V. Area. | Rs. 40,694.00 | Rs. 407.00 | 1 month |

Terms and conditions:

- 1. Completed sealed Quotations will be received on 13.06..2011 up to 3.00 P.M. at the following places. Quotationers may opt any one place to submit their quotation as per their convenience.
 - In the office of the General Manager, C.V. Area-XII, AT-Begunia, P.O -Barakar(W.B.)
 - ii) At BCCL H.Q. i.e. C.I.S.F. post, near Koyala Bhawan gate, Koyala Nagar, Dhanbad.
 - iii) Office of the ACE, CCWO, W.W.Z. Area, Saraidhela, Dhanbad.
 - iv) Office of the ACE, CHD, Jagjiban Nagar, Dhanbad.
- Quotations will be opened on 15.06..2011 at 11.30 A.M. in the office of the Area Civil Engineer, C.V. Area-XII, AT-Begunia, P.O -Barakar(W.B.).
- Specification of work shall be governed by DSR-2007 & C.P.W.D specification.
- Terms and conditions as per C.I.L. C.E. manual shall be applicable against the quotations submitted against this Quotation
- Completed sealed Quotations shall consist of (1) EMD in the shape of cash receipt obtained from the finance deptt. C.V. Area-XII or DD from any Scheduled/Nationalised Bank, in favour of BCCL, C.V. Area, payable at Barakar, (2) Experience certificate, (3) Copy of Pan card, (4) Copy of VAT/Sales Tax clearance certificate along with VAT/Sales Tax registration No.(TIN), (5) Declaration and (6) EFT (Electronic Fund Transfer) & ECS (Electronic Clearance System) as per the format issued along with the Tender paper and (7) BOQ along with quoted rate by the Tenderer.
- 6. The quoted rate shall include all taxes and levies.
- Statutory deductions for Income Tax and Sales Tax shall be made as per Rules and notifications.
- The contractor has to abide by the Rules of Contract Labour Regulation & Abolition Act-
- Validity of tender shall be 120 days from the date of opening of the tender.
- 10. Interested parties can collect the BOQ and other related papers of the Quotation from the office of the Area Civil Engineer, C.V. Area-XII, AT-Begunia, P.O -Barakar(W.B.), from 07.06.2011 to 11.06.2011 during office hours except Sunday and Holiday. BOQ and other relevant pages (Declaration & EFT form) can be down loaded from BCCL website- http://bccl.cmpdi.co.in
- 11. No conditional tender shall be accepted.
- 12. The contractors have to be acquainted with the site condition
- 13. Unless otherwise mentioned, no material will be issued by the department.
- Successful tender has to deposit 5% Performance Security (including 1% EMD) and another 5% Security Deposit will be deducted from the Running Account/ Final Bill.
- 15. The management of BCCL reserves right to reject any or all tender or split the work among two or more tenderers without assigning any reasons whatsoever.

Sd/-Area Civil Engineer Chanch Victoria Area-XII

Copy to :-

- 1) GM, Chanch Victoria Area-XII.
- 2) GM (Civil), BCCL, Koyla Nagar.
- All CGM/GM of Areas/Projects under BCCL.
- Addl. GM, Chanch Victoria Area-XII.
- A.F.M., Chanch Victoria Area-XII.
- 6) All P.O.s of Chanch Victoria Area-XII.
- Cashier, C.V. Area-XII
- Incharge,, CISF Post, Koyala Bhawan gate, Koyala Nagar,
- Assistant Commandant, CISF, C.V. Area-XII-with 2 copies of NIT for displaying on Notice Board.
- 10) Builders Association of India, Central Akashkinaree Kanta, Katras Garh, Dhanbad-828113.
- ACE, CHD, Jagjiban Nagar, Dhanbad.
- 12) ACE, CCWO, W.W.Z. Area, Saraidhela, Dhanbad.
- 13) GM(System) with request to upload the NIT in Co's Website (C.D. containing NIT document is being sent separately together with a forwarding letter).
- Notice board.

BILL OF QUANTITY FOR

"Repairing of boundary wall, fixing gate in boundeg and same development works at Guest House C/V Area."

| Sl.No. | Description of Item | Qty | Unit | Rate | Amount |
|----------------------|--|----------|------|----------|----------|
| 1. 2.6.1- 2.36 | Earth work in excavation by mechanical means (Hydraulic excavator) / manual means over areas (exceeding 30cm in depth. 1.5m in width as well as 10sqm on plan) including disposal of excavated earth, lead up to 50m and lift up to 1.5m, disposed earth to be leveled and neatly dressed. All kinds of soil Deduct for disposed soil not leveled and neatly dressed (against Item No. 2.6 & 2.7) | 36.08 | Mtr. | 88.00 | 3,175.04 |
| 2. A.R. | P/L single layer Brick flat soiling of all complete. | 53.47 | Mtr. | 111.09 | 5,939.98 |
| 3. 6.4.2 | Brick work with F.P.S. brick of class designation 50 in superstructure above plinth level up to floor V level in all shapes and sizes in : Cement mortar 1:6 (1 cement : 6 coarse sand) | 3.0 | Mtr. | 2,137.95 | 6,413.85 |
| 4. 13.1.2 | 12 mm cement plaster of mix : 1:6 (1 cement : 6 fine sand) | 40.00 | Mtr. | 67.65 | 2,706.00 |
| 5. 9.48.1 | Providing and fixing M.S. grills of required pattern in frames of windows etc. with M.S. flats, square or round bars etc. all complete. | 82.00 | Kg. | 59.25 | 4,858.50 |
| 6. 15.12.1 | Dismantling doors, windows and clerestory windows (steel or wood) shutter including chowkhats, architrave, holdfasts etc. complete and stacking within 50 metres lead): Of area 3 sq. metres and below | 2.0 | Each | 54.60 | 109.20 |
| 7. 10.2 | Structural steel work riveted, bolted or welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete. | 25.00 kg | Kg. | 46.35 | 1,158.75 |
| 8. 14.2.1 | Fixing chowkhats in existing opening including embedding chowkhats in floors or walls cutting masonry for holdfasts embedding hold fasts in cement concrete blocks with cement concrete 1:3:6 (1 cement : 3 coarse sand : 6 graded stone aggregate 20 mm nominal size) painting making good the damages to walls and floors as required complete including disposal of rubbish to the dumping ground within 50 meters lead : Door chowkhats. | 2.0 | Each | 354.45 | 708.90 |
| 9. 15.56 | Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal or rubbish to the dumping ground within 50 metres lead. | 48.65 | Mtr. | 8.20 | 398.93 |
| 10. 5.2.3 | Reinforced cement concrete work in walls (any thickness), including attached pilasters, buttresses, plinth and string courses, fillets, columns, pillars, piers, abutments, posts and struts etc. up to floor five level excluding cost of centering, shuttering, finishing and reinforcement: 1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 20 mm nominal size) | 1.85 | Mtr. | 3,720.00 | 6,882.00 |

Contd. P-3

| 11. 5.9.2 | Centering and shuttering including strutting, propping etc. and removal of form for: Foundations, footings, bass of columns, etc. for mass concrete. | 14.65 | Mtr. | 18.40 | 2,642.86 |
|----------------|--|--------|------|--------|-----------|
| 12. A.R. | Fixing broken glass in copings of all. | 1.00 | Each | 900.16 | 900.16 |
| 13. 13.39.1 | Colour washing such as green, blue or buff to give an even shade: New work (two or more coats) with a base coat of white washing with lime. | 351.71 | Mtr. | 9.30 | 3,270.90 |
| 14. 13.62 | Painting with synthetic enamel paint of approved brand and manufature of required colour to give an even shade. | 4.31 | Mtr. | 35.35 | 152.35 |
| 15. 2.28.1 | Surface dressing of the ground including removing vegetation and in-eualities not exceeding 15 cm deep and disposal of rubbish, lead up to 50 m and lift up to 1.5 m. All kinds of soil. | 268.78 | Mtr. | 512.10 | 1,376.42 |
| | Total | | | Rs. | 40,693.84 |
| | | | Say | Rs. | 40,694.00 |

| Having gone through the Tender docun | nents & elements of work in the bill of quantity :- |
|--|---|
| I / we quote% (the estimated cost. |) above / below |
| Our quoted offer amounts to Rs Rupees | • |
| |) including the above percentage. |
| | |

FOR PAYMENT TO CONTRACTORS *Triplicate*)

(Note: To be submitted in

PROFORMA FOR COLLECTING PAYMENT THROUGH ELECTRONIC MODE INCLUDING ELECTRONIC FUND TRANSFER (EFT) & ELECTRONIC CLEARING SYSTEM (ECS)

| 1 | Vendor/ supplier/ contractor/ | |
|---|---------------------------------|--|
| | customer's name & address (with | |
| | telephone number & Fax number) | |
| | | |
| 2 | Particulars of Bank Account | |
| | a) Bank Name | |
| | b) Branch Name | |
| | (Including RTGS Code) | |
| | Address | |
| | | |
| | Telephone No. & Fax No. | |
| | c) 9 – Digit Code Number of the | |
| | Bank & Branch | |
| | (Appearing on the MICR | |
| | Cheque issued on the bank) or 5 | |
| | digit code number of SBI | |
| | d) Account Type | |
| | | |
| | (S.B. Account/ Current Account | |
| | or Cash Credit with code | |
| | 10/11/13) | |
| | e) Ledger No./ Ledger Folio No. | |
| | f) Account Number (Core | |
| | Banking) & Style of Account | |
| | (As appearing on the cheque | |
| | Book) | |

3. **DATE OF EFFECT:**

I hereby declare that the particulars given above are correct & complete. If the transaction is delayed or not effected at all for reasons of incomplete or incorrect information, I would not hold the user institution responsible. I have read the option invitation letter and agree to discharge responsibility expected of me as a participant under the scheme. Any bank charges levied by the bank of such e-transfer shall be borne by us.

| Date:- | | (| | |
|--|--------------------|--------|------------|-----------|
| supplier/ contractor | Signature | of | customer/ | vendor/ |
| Certified that the particulars furnished above are corre | ect as per our rec | ords. | | |
| , | | (| | |
| from the Bank | Signature | of the | authorized | officials |

DECLARATION

| I, | I,, Partner/Legal Attorney/ Accredited Representat | ive of M/S |
|----------|--|-------------------------------------|
| | , solemnly declare that : | |
| 1. | 1. We are submitting Tender for the Work | |
| | aga | inst Tender |
| | Notice No dt | |
| 2. 3. | | |
| 4. | | olved in criminal |
| 5. | *************************************** | or Quasi Govt. |
| 6. 7. | All documents/ credentials submitted alongwith this Tender are genuine, authentic, | me, department ng termination of |
| | | Signature of the Tenderer |
| | | Dated |